. Z 2 p, NG
=—n§¢§g—hagma 3 N vy Qy
/ AN / 2 Eﬁﬁiiﬁmﬂ\l‘{{ﬁ
=L Eor &2k REH GRS Mt \x
TUSIFAR S PR 2 A
Ve (10 £A0,
o7 ~ 14

#

g

°
WHEE TR

— @ = ) N
/ARRT TER AR S/

V7.
AN

RN v
N S ARTESRLRE Y . Y

N




fRINE
SMM6EORAOH
OO0 OO
il 14,300 4
BOFRIEEZFMERELT
o0v=vy
Xk Xk 3k %k %k %k k 3k
BRI SMM6EORAOH
WITFME 10, 000H 1
BERRE 2,000M 1
BELURILE 1,000M 1
HER (10%) 1, 300M
A&t 14, 300
oov)=vsH
k 3k 3k sk k k )k 3k
FHERA 14,3001 (@bl ZiL-1-£%8)

B RKEER 13,200 (XiLEEL YRMRNDEFEZRV-EEE)
(14,300 - (1,000 % 109%%:) )

BN & REEER 12,000 (AR _EFR12,000M)



